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MATHEMATICS 201-009

Review Questions for Test #4
Instructor: Dr. Ming Mei

/10 1. Consider the numbers:
e 2 ;1 O 5
-5, 51 2, 0, -34, 5, 8 2 v gt » 2 1.23057. .

(@ Which are natural numbers?

¢

(s)] Which are integers?

© Which are rational numbers?

(o) Which are irrational numbers?

'(&)  Which are real numbers?
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/10 2 Simplify:

/10 3. Rationalize the*denominator:

el o
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8 vy '
Mo A4 Simplify: y ~ 8 . Alsogive restrictions fory.
y+ 82
/10 5. Perform the operation and simplify the answer.

X2+ 13x+ 40  x*+ Wx+ 24

X2 - x- 6 ' X _- 8

il LR
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Mo 6. Perform the operation and simplify the answer.
X _ 5
X2 + 9 + 20 ¥+ Mx + 20

M0 7. Given the points A5, -4) and B(-8, -10)

-
k-

@  Find the equation of line AB

(0  Find the equation of a circle having AE - as its diameter
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/10 8. Graph the function
r

X+2 forx <=2
< X -3 for -2<x<?
X forxs2

.

Also determine the domain, range the x and y intercepts of f(x).

RUBE; O
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/10@ 9. Given fX) = 1 + 2X

Find the following new functions and determine their domains.

@ f+ 90

(o))

o

@j=n
e
]
¥

T

(€) (fog) (%)

(d) (gof) ¥

©  (fofi ¢2)

a0 =J}Z



/10 10. For given line: y= 2x +1, find the equation to

() aline which is parallel to the given line and passes through the
point (0,0).

%
*®

(b) aline which is perpendicular to the given line and passes through
the point (0,0).
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